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(@)

(b)

Language Comprehension

Reading unseen passages- two passages one prose or drama and one poem with questions on
comprehension, inference, grammar and verbal ability (Prose passage may be literary,

scientific, narrative or discursive)

Pedagogy of Language Development

Learning and acquisition

® Principles of language Teaching

® Role of listening and speaking; function of language and how children use it as a tool

® (ritical perspective on the role of grammar in learning a language for communicating

ideas verbally and in written form.

® [anguage Skills

® Evaluating language comprehension and proficiency: speaking, listening, reading and
writing
® Teaching- learning materials: Textbook, multi-media materials, multilingual resource of

the classroom

® Remedial Teaching




01.

COMPREHENSION

Introduction—Comprehension is the ability to
understand completely and be familiar with a situation
facts etc. The purpose of comprehension is to prepare
students to grasp the meaning of passage accurately and
to develop students ability to answer the questions
clearly and correctly.

Some Important
Comprehension—

(1) Read the questions first. (¥t F &IF T UG)

(2) Read the passage. (TT&Te ' I%)

(3) Vocabulary Test (underline tough words and
grasped the accurate meaning of words). (Hf34 e D)
fafred o % 3rd &1 T W o)

(4) Theme of passage/Exact meaning of passage.
(TETeT S famg aeg IR Ty St ot T # o)

(5) Practice a lot from different fields like,
Economy, Social issues, Science qqd techpo}o v,

Historical stories etc. (fafe=1 &&ff ¥ Taiftm wmaien
e, e g2, fage, T A oS § e
F AN
COMPREHENSION OF PROSE
Directions : Read the given passage carefully and
answer the questions (Question No. 1 to 5) that follow
by selecting the most appropriate option.
Passage-1

Antarctica is an icy continent in the South Pole. It is
covered by permanently frozen ground, is surrounded by
water and is about 1.5 times longer desert is in
Antarctica. 98% of the land is covered with a continental
ice sheet; the remaining 2% of land is barren rock.
Antarctica has about 8§7% of the world’s ice. The South
Pole is the coldest, windiest and driest place on Earth.
The coldest temperature ever recorded on Earth was at
the South Pole; it reached as low as -128.6 °F or -88.0
°C. On an average most of the Antarctica gets less than 2
inches of snow each year. Although scientific
expeditions visit Antarctica, there are no permanent
human residents. This is because of the extreme weather,
which includes freezing temperature, strong winds and
blizzards. There are about 4000 seasonal visitors to
Antarctica. Antarctica hasn’t always been located at the
South Pole. It has drifted, like the other continents and
has ranged from the Equator during the Cambrian period,
about 500 million years ago to the South Pole. During
the time of the dinosaurs, Antarctica was more temperate
and housed dinosaurs and many other life-forms. Now
there is very little indigenous life.
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The word ‘icy’ in the passage is a/an
(a) noun
(b) adjective
(c) adverb
(d) homonym of ‘ice’

Steps for Reading

1.

Ans : (b) In the given passage 'icy' ‘THiel TH
Adjective @ ST TS Continent—FeT&d, I fIewer =@ &1
2
2.

The word ‘desert’ in the passage is a

(a) noun

(b) pronoun

(c) verb

(d) verbal

(a) 39 Passage T desert (A&EIA) Th Noun 2l

The word ‘windiest’ in the passage is a
(a) second form of verb
(b) superlative form of adjective
(c) superlative from of adverb
(d) positive form of noun
Ans : (b) 'Windiest' s Adjective & Superlative form @1
wind — Positive form
Winder — Comparative form
windiest — Superlative form
4. Has Antarctica always been fixed in the South
Pole?
(a) Yes
(b) No
(c) May be
(d) Not given in the passage
Ans : (b) Has Antarctica always been fixed in the south
pole (T 3 gag R gF R R w1 7) T
Ig @1X H South pole W Shift g3T 21 3@ Passage o
line no. 16.
5. Who are the earliest known inhabitants of
Antarctica?
(a) American scientists
(b) Indian scientists
(c) Dinosaurs
(d) It has always been a desert

Ans : (¢) Antarctica (3ITTH{CH) T @ arct Jod T99
T Dinosaurs & | 3ifod ¥ gad 4t 3@ |

Directions : Read the given passage carfully
and answer the questions (Question Nos. 6 to 10) that
follow by selecting the most appropriate option?

Passage-2

The first thing which a scholar should bear in mind
is that a book ought not to be read for mere amusement,
half educated persons read for amusement and are not to
be blamed for it; they are incapable of appreciating the
deeper qualities that belong to a really great literature.
But a young man who has passed through a course of
University training should discipline himself at an early
day never to read for mere amusement. And once the
habit of discipline has been formed, he will find it
impossible to read for mere amusement. He will then
impatiently throw down any book from which he cannot
obtain intellectual food, any book which does not make
an appeal to the higher emotions and to his intellect. But

IAns :
3.

|

4



on the other, the habit of reading for amusement
becomes with thousands of people exactly the same kind
of habit as wine-drinking to opium-smoking; it is like a
narcotic, something that helps to pass the time,
something that keeps up a perpetual condition of
dreaming, something that eventually results in destroying
all capacity for thought, giving exercise only to the
surface parts of the mind and leaving the deeper springs
of feelings and the higher faculties of perception

unemployed.
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6. The writer believes that half-educated persons
are not able to
(a) enjoy wine-drinking
(b) enjoy dreaming
(c) think properly
(d) appreciate hidden qualities
literature
ns : (d) In the given passage writer believes that half
educated persons are not able to appreciate hidden
ualities of admlrable literature.

1 forvarg 2 T ond fufem i wifees & e=iis
TOT S TR B AT A A 2

7. The word ‘narcotic’ in the passage means

(a) great literature

(b) intoxicant

(c) cheap books

(d) intellectual exercise
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Ans : (b) Narcotic — HIgh Tard
Intoxicant — Tefiet gare
W:%Narcotic & Te 314 Intoxicant & NI =<6 fobam T
W@l el

8. The phrase ‘the higher faculties’ in the passage
means
(a) different departments in the University
(b) different ways of enjoying things
(c) mental powers of a high

understanding great literature
(d) superficial part of the mind
UPTET (I-V) Oct. 2017

s : (¢) 'The Higher faculties' & 3 foed (c)

Mental powers of a high order for understandig great
literature.

wmaﬁmwﬁﬂﬁ%ﬂmaﬁw
|

9. The word ‘eventually’ in the passage means
(a) after some time
(b) at last
(c) never
(d) initially

of admirable

order for
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Ans : (b) Option (b) is correct.
Eventually — 3Td:
After some time — $8 THI 9%

At last — 31 ®
Never — %41 T&f
Initially — YR

37d: Eventually & SHMHTST 368 At last Sl

10. The word ‘unemployed’ in the passage means
(a) jobless

(b) in search of employment

(c) not working

(d) unused

UPTET (I-V) Oct. 2017
s : (d) 39 Passage % 3TTER unemployed T a7
Unused— fSTget @ 7 fovar = &, g

Directions: Read the given passage carefully and
answer the questions (Question No. 11 to 15) that
follow by selecting the most appropriate option.
Passage-3

Helicopters are very different from airplanes. They
can do three things that airplanes cannot do. First, when
airplanes move upward, they must also move forward,
but helicopters can move straight up without moving
ahead. Second, helicopters can fly backward, which
airplanes cannot do. Third, helicopters can use their
rotors to hover in the air, which is impossible for
airplanes. Helicopters can perform actions that airplanes
cannot, they are used for different tasks. Since
helicopters can take off without moving forward, they do
not need a runway for take off. They are used in
congested areas where there is not room for airplanes or
in isolated areas, which do not have airports. Because
they can hover, they are used on fire-fighting missions to
drop water on fires. They are used in logging operations
to lift trees out of forests. Helicopters are used as air
ambulances to airlift patients out of situations, which are
difficult to reach by conventional ambulances. The
police use helicopters to follow suspects on the ground or
to search for cars on the ground. Of course, helicopters
have military uses because of their design and
capabilities.
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The word ‘congested’ in the passage means
(a) the place is roomy
(b) the place has no place
(c) the place can be accessed by police vans
(d) the place has so much of smoke due to fire

11.

Ans : (b) congested — F&T HS—HTS e M| 36 T
& 279 & fa%ed (b) the place has no place % R &b
fepa ST W 21

the place has no place &1 d & ‘wm Wl digr ff e

T

12. A helicopter can hover while an airplane
cannot, according to the passage. ‘Hover’ in the
passage means

(a) stay at one place in the air

(b) move straight up in the air

(c) go backward in the air

(d) fly sideways

s : (a) Hover &I Adciel g1 § T & @M | fTh
T@AT| 39T GAMET foehed (a) stay at one place in the air
% EI = fopar ST TebT 21

13.  Point out the grammatical category of the word
‘perform’ in the passage.
(a) Noun (b) Verb
(c) Adverb (d) Helping verb

Ans : (b) Perform— fodt FE H HETI T8 TH Verb

(foram) 2 31d: forhed (b) W& 81




14. Why is a helicopter used as an ambulance?
(a) Its movement can be manoeuvred easily.
(b) It crosses all difficulties of traffic.

(c) It reaches the inaccessible places easily.

(d) It can fire- fight.

(b) A box in the pillar
(c) Box office
(d) A pillar-type postbox

Ans : (d) Pillar-box &I A pillar-type postbox &8 Hehd

Ans : (¢) Why is a helicopter used as an ambulance?

H g & &9 § 4t fohar S 82 39
999 1 IW faHeT (c) It reaches the inaccessible places
casily. T8 TEMI ¥ 7 WgaH ot Tl W oft o |

g1 So option 'd' is correct.

TR 2|

15. Point out the grammatical category of the word
‘very’ in the passage.
(a) Adverb
(c) Noun

(b) Adjective
(d) Verb

19. Who is the person likely to take more time to
do work?
(a) A busy man
(b) An elderly person
(¢) A man of leisure
(d) An exhausted person

Ans : (a) Very — dgd
Ig Th Adverb HSIED Th Adjective, different Eill
forgiraT o @1 2

Ans : (¢) Who is the person likely to take more time to
do work? &M d1 =Afth W%WWW%
2?7 gHH W f&4He9 (c) A man of leisure 37efd W
TH< AT |

Directions: Read the given passage carefully and
answer the questions (Question Nos. 16 to 20) that
follow by selecting the most appropriate option.
Passage-4

Work expands so as to fill the time available for its
completion. The general recognition of this fact is
shown in the proverbial phrase, “It is the busiest man
who has time to spare”. Thus, an elderly lady at leisure
can spend the entire day writing a postcard to her niece.
An hour will be spent in finding the postcard, another
hunting for spectacles, half an hour to search for the
address, an hour and a quarter in composition and twenty
minutes in deciding whether or not to take an umbrella
when going to the pillar-box in the street. The total effort
that would occupy a busy man for three minutes, all told,
may in this fashion leave another person completely
exhausted after a day of doubt, anxiety and toil.
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What is the total time spent by the elderly lady
in writing a postcard?
(a) Three minutes
(b) A full day
(c) Four hours and five minutes
(d) Half an hour

16.

20. Point out the most appropriate explanation of
the sentence. “Work expands so as to fill the
time available for its completion”.

(a) The more work there is to be done, the more
the time needed.

(b) Whatever time is available for a given amount
of work, all of it will be used.

(¢) If you have more time, you can do more
work.

(d) If you have some important work to do, you
should always have some additional time.

Ans : (b) Option 'b' is correct
Whatever time is available for a give amount of work,
all of it will be used.

Ans : (b) What is the total time spent by the elderly
lady in writing a postcard (F& HARRA & T TH
Postcard foRa # fahaar gwar @+ feban man 21

a option no. (b) A full day— I fa i passage !
Sth U6 THH HRSAT BT |

17. What happens when the time to be spent on
some work increases?
(a) The work is done smoothly.
(b) The work is done leisurely.
(c) The work consumes all the time.
(d) The work needs additional time.

Ans : (¢) What happes when the time to be spent on
some work increase? 5/ fdl wd W @ fohar T WG
FE & o 4 B 82

THA 3T faheq (c) the work consumes all the time—

Directions : Read the passage and answer the
questions that follow (Q. No. 21 to 27) by selecting the
most appropriate option.

Passage-5

Scientists are extremely concerned about the
changes taking place in our climate. The changes are said
to be alarmingly rapid and the result of human activity
whereas in the past it had been natural and much slower.
The major problem is that the planet appears to be
warming up (global warming). This is occurring at a rate
unprecedented in the last 10,000 years. The implications
are very serious. Rising temperatures could give rise to
extremely high increase in the incidence of floods and
droughts, having effect on agriculture.

It is thought that this unusual warming of the Earth
has been caused by greenhouse gases, such as carbon
dioxide, being emitted into the atmosphere by car
engines and modern industrial processes. Such gases not
only add to the pollution of the atmosphere, but trap the
heat of the sun leading to the warming up of the planet.

It has been suggested that industrialized countries
would try to reduce the volume of greenhouse gas
emissions and plant more trees to create 'sinks' to absorb
greenhouse gases.

UPTET 2016
The change taking place in our climate have
become:
(a) a matter of celebration for the scientists.
(b) a matter of worry for the scientists.
(c) something that does not have any serious

implication.

(d) something to be whiled away by the scientists.

21.

S QU 9HF GUd HT AT 2
18. What does the expression ‘pillar-box’ stand
for?

(a) A box attached to the pillar

Ans:(b)ﬁ'&ﬂ'&PassageGﬁHWﬁﬁﬁW&ﬂWéﬁ
* fag 2 31 Option 'b' a matter of worry for the

scientists @ |




22. The 'antonym’' of the underlined word 'increase’
is

(a) increment
(c) smaller

(b) reduction
(d) rapid

Ans : (b)

Increase — 9@MT

Increment — SI@-T

Reduction — FHl, S,

Smaller — BT

Rapid — 3

31 Increase &1 e (Antonym) Reduction il

23. The climatic changes taking place today are

different from earlier changes as

(a) Today they are slower and more natural.

(b) Today they are much faster and caused by the
humans.

(c) Today they do not threater the humans because
of their speed.

(d) Today men are affected by them easily.

Ans : (b) & T3 Passage 1 T itk @ T yvT
e e S § 3Ugh 2, or: option 'b' Today they

are much faster and caused by the humans.

24. Increase in global temperatures may result in
(a) rains
(b) destruction of crops
(c) death of animals
(d) along period without rains

Ans : (d) Passage I 39d1 Ufth &7 T 9 HI TE W
& 3Ugh 2 3 exact explain h{dl 21 So option

'd" a long period without rains &l Rl

25. The underlined word 'slower' in the passage is
(a) Noun (b) Verb
(c) Adjective (d) Adverb

Ans : (c) 'slower' & T passage H Climate &1 forerear
ELIRG RN RE option (c) adjective g

26. Greenhouse gases refer to

(a) emission of gases by the cars alone.

(b) emission of gases by the industries alone.

(c) trapping of heat of the sun by the earth
increasing temperatures alone.

(d) carbon dioxide being produced from any

Source

Ans:(d)fa'aﬂ'apassagea?f‘iﬁﬁm 12, 99 & Hal
IR T FIAT &1 3F: &A1 T option 'd' carbon dioxide

being produced from any source.

27. The underlined word 'sinks' in the passage
refers to
(a) absorption of greenhouse gases by industries.
(b) reduction of greenhouse gases by industries.
(c) industrialized countries.
(d) the plantation for absorbing harmful gases.

Ans : (d) e passage H 'sinks' I[&& I HAAE option

'd' the plantation for absorbing harmful gases &l 21

Directions (Q. 28 to 32) : Read the following
passage carefully and answer the questions given below
it.

Passage-6

Vedanta is systematic and formulated knowledge of
life and living. It reveals your real self. It explains your
true nature and your relationship with the world. You are
essentially divine no matter what you appear to be a
sinner or a saint. Divinity is the care of your personality.
With this knowledge you can live a life of perfect
harmony, peace and bliss.

The goal of all religions is one and the same in
Latin, remains back, again : ligare means to blind to
unite. Etymologically religion means that which binds
one book to the origin. The Sanskrit word yoga is
derived from its root, which means “to join, to unite”. So
all religious practices known as different yogas are
directed to this union to one’s real self. So also does
Vedanta help your regain your original being. Further
more Vedanta excels in its scientific. It expounds the
truth systematically and logically. It’s truth is its
authority. It belongs to one and all with ought distinction
of caste creed, colour, community on country. Vedanta
has their love a universe appeal to all the lovers of truth.
28. What does religion literally mean?

(a) People of the community

(b) People of different domain

(c) That which binds a man back to its origin

(d) None of these
| Ans : (c) That which binds a man back to its origin. |
29. Vedanta gives—

(a) Scientific explanation of your original self

(b) Systematic and logical explanation of truth

(¢) No distinction among caste, creed, colour

community and country

(d) All of the above

|Ans : (d) All of the above. |

30. What is true regarding religion, according to the

passage?

(a) All religion given divergent view about your
real self

(b) All religion give the same view about your real
self

(c) All religion disagree on several points

regarding your real self
(d) None of these
Ans : (b) All religion give the same view about your
real self.
31. What s true regarding the passage?
(a) A sinner does not posses divinity
(b) A saint does not posses divinity
(c) Both a sinner and a saint posses divinity
(d) None of these
|Ans : (¢) Both a sinner and a saint posses divinity.
32. The knowledge of divinity leads—
(a) A deceiving knowledge of peace
(b) A confusing knowledge of peace, bliss and
harmony
(c) A perfect knowledge of peace, bliss and
harmony
(d) None of these
Ans : (¢) A perfect knowledge of peace, bliss &
harmony.
Direction: Read the passage given below and
answer the questions (33-40) by selecting the
correct/most appropriate options.




Passage-7

The other day I received an unusual and very
gratifying gift : I was given a tree, or, rather. I was given
half a dozen trees, which would be planted on my behalf.
I had been invited to give a talk to an organization. After
such events, the speaker is usually given a token gift.
Sometimes the gift is that of a pen, or something useful.
Often, the gift is in the form of a plaque or similar
commemorative token. However well-meant, such gift
are destined the gather dust in forgotten corners. Which
is why I was agreeably surprised to be given a scroll
which attested that, in a designated plantation established
for the purpose six trees would be added in my name, as
part of green movement being sponsored by the
organization.

In an increasingly environmentally conscious world,
the gift of a living tree or plant makes for a perfect
present. The tradition of giving receiving gifts has
increasingly become a highly involved marketing
exercise. Apart from festivals like Diwali, Holi,
Christmas, Eid and others a whole new calendar of
celebratory events has been created to promote the
giving of gifts : Mother’s Day, Father’s Day, Teacher’s
Day, Valentine’s Day and so on and on.

What do you give to people, friends, relatives,
spouses, children, parents, employees, clients, well-
wishers who have more or less everything, or at least
everything that you could afford to give them as a gift,
Another shirt or kurta? Another bottle of scent or after
shave? Another box of chocolates? Another any other?
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What do you not very much care for it when you
receive a shirt or a kurta as a gift?
(a) You already have so many of them
(b) You don’t like the colour
(¢) You were not asked about your choice
(d) The giver had to spend a lot of money
Ans : (a) @& T passage I 3ifm ¥ qud d9f, @ ™
999 &I option (a) you already have so many of them.
T
34. The word ‘gratifying’ means
(a) Satisfying (b) Giving
(c) Fortifying (d) Annoying
Ans : (a)
Gratifying — §qf¥
Satisfying — §qf¥
Giving — coll
Fortifying — ASIId a1 g& LT
Annoying — gUIT AT
31d: Gratifying 1 Hal ardf Satisfying T 21

33.

Ans : (d)
Destined — 919 ¥ forar B3I, fauifa
Decided — 9=

Declined — FhAT, HAT I
Departed — ¥ Tl

Fated — 7 ¥, 979 & foran gam|
31 Destined &7 &l 314 Fated 1|

36. Name the part of speech of the underlined word
in the following clause.
Which is why I was agreeably surprised.
(a) Adjective (b) Pronoun
(c) Adverb (d) Preposition

Ans : (b) fe M T # Which, Pronoun T &M I

w2

37. Identify the part of the following sentence which
has an error in it.

Your claim ought (1) to succeed in that case (2)
the damages (3) will be substantial (4).

(a) (1) (b) @)

(©) G) (d @)

Ans : (b) & T a4 i 3f¥ ¥ Passive voice #
BT AT 31a: ought to, passive voice ¥ change BIHL
ought to be BT o7 W& a9 Your claim ought to be

succeed in that case the damages will be substantial.

38. The writer was thrilled when he was given
(a) Six trees (b) A plaque
(c) Apen (d) A tree

Ans : (b) & T passage bl line no. 7 & T e
SUIh ARAT HIdT 21 3 option (b) a plaque Tal 3T

B

39. What usually
receives?
(a) He gives them away as gifts to others
(b) They are put away and forgotten
(c) He keeps them religiously as mementoes
(d) He uses them if he needs them

happens to the gifts he/she

Ans : (b) f&& T passage § IR[H T¥F H IW option
(b) ¥ WE I 21 o7 W W They are put away and

forgotten.

40. The gift received by the writer was:
(a) Environment friendly
(b) Very expensive
(c) Gathering dust in a corner
(d) A marketing exercise

Ans : (a) &3 T3 Passage ®1 Ufth T 13 ¥ H T
IO T FIAT | 3 TE IW The gift received by the
writer was environmetal friendly.

35. The word ‘destined’ means:
(a) Decided (b) Declined
(c) Departed (d) Fated




02.

THE SENTENCE

(A) SUBJECT and PREDICATE

(B) KIND of SENTENCES

Subject and Predicate

The Sentence
A group of words that expresses a complete
statement and a meaningful question etc. and contain a
subject and a verb is called sentence.

s vedl % UH 9gE FI a9 ded § o fhdl 9

77 fom=R @i =k H H e § I &
PARTS OF SENTENCE

T % & AT &I -
Subject (&) Part : 5@ &4 5 =fE a1 a%q &l
Wﬁﬁ%,ﬁﬁSubject%ﬁ g
Predicate (f8r=T) Part : 5@ g0 fdft =afs a1 o
%Wﬁ@@ﬂﬁ%,ﬁ}aﬁhedicatem%l

Examples :

(a) Ram reads a book.

(b) She sings a song.

999 9 H Ram a1 W @ H She
(Subject) & T reads a book 37 sings a song &
(Predicate) g

SUBJECT
Subject parts & UM & oIy f=fafad tables &

HES T

Table 1

SUBJECT PREDICATE
(A) Kishan plays.

Neha weeps.
(B) He played.

She wept.
(©) Smoking is injurious.
(D) To walk is useful.

W—Category A ¥ Kishan 31X Neha (Subject) Noun gl
Category B ® he #HR she (Subject) Pronoun g
Category C H smoking (Subject) Gerund 21
Category D # to walk (Subject) Infinitive 2
Table 1 ¥ 1 81T & 5 Subject & WM W T &
I H AN I 21 5% Head word T Main word

i
PARTS 01[" SUBIECT

Main Word =
Head Word

Qualifier

(Enlargement)
L

| FER )
SLCTTnG Adjective :
Determiner = Adjectival Phrase

PARTS ()1[-' PREDICATE

| o
Verh Ohject Complement

L 1
]
Indirect Object Direct l'lhjr:m
Table 2

(Subject & TS % foTT TH 317 Table ff 3faw)

SN | Subject Predicate Remark

1. bark. PH Subject

'Dogs' Noun 2

Dogs

She labours hard. | @& Subject 'She'

Pronoun %\ |

& The poor—
Subject % &7 H
Adjective g, o
H o«

The poor are sad.

Noun

T €|

bad | =gl Smoking—
Gerund & ST
Subject % &7 H
Noun @& offd

AT fRa T R

is a
habit.

Smoking

To err is human. To err IJal
Infinitive % Sl

Subject % &I H
T €|

To find fault IT&&
H TH TE 7 S
Subject F TIH
R Noun & TE

To
fault

find | is easy.

S ¢

ﬁ'ﬁi‘ﬁf—Subject % WH W Head Word & &9 H
Noun, Pronoun, Adjective, Gerund, Infinitive 2T = &
g 1 AN fHAT ST GhAT § G % Table 2 % faftm
ST § WE B

9



Table 3

Subject Predicate
S. Qualifier Head Word
No. (Noun)
1. A boy runs.
2. That man laughs.
3. Few girls danced.
4 Many boys played.

Table 3 ¥ Subject % & 9N &~ Qualifier 79T T
Head Word | 39 31 § Head Word & Noun 37T ?I

e A, that, few T many ¥4 qualifier g S Head

words % 3% Tl T T T §|
®  boy, man, girls T boys—Head Words g S Noun
4
o Qualifier % @9 head word % &7 # ¥2d noun 1
pronoun <l ST g é
Table 4
Subject Predicate
S. Determiner | Qualifier | Head
No. Word
1. A blind man walks.
2. The beautiful | girl danced.
3. The old lady cried.
4. These pretty babies | play.

39 Table 4 # Determiner 3R Qualifier T s
(Head Word) 3! =@ & ® &1 T& &9 § Head Word
ED @Waﬁ WWAdjective'&'}ﬁT%I

Note—@ Head Word ¥ Ugdd Th Tex Eﬁ, @39
Qualifier &7 3R & & I B Al Adjective s Bl
Qualifier & T Adjective & T8 JANT g aTcd Iaa

3"@?5 Table 5 § Head Word & =& & & fom
Determiner, Adjective d9T Adjectival Phrase T
(T WA g3 21 Adjective phrase T ST Head
Word & 1€ &l 21
3 3T Tables I 14T FW ¥ fA=fafad am
o &9 § WY A § S e § e s
YT B
1. Subject % B+ & fafd ¥ Head word—Noun,
Pronoun, Gerund AT Infinitive Bl bl %I
2. Subject # =A@ 84 W Subject &9 Noun &I |
3. Subject I AT TH & R B4 W g Subject E]
g JANT BN S g9 Qualifier HRT |
4. Subject F T FH & U THH @ A W= TH
g @ Ygd ¥eE B Determiner 3N Egﬁ 3
%?liﬁer FRT| g9 &M F Qualifier §29 Adjective
|
5. Subject ® 3R 3w =rENm HH & fau A
Adjective Phrase bl LRI B Subject % TR
ST T |
fer@9—Determiner 3R Qualifier & AN Subject
(Head Word) T wed 3R Adjectival Phrase a1 T
Subject (Head Word) & T2 2T 2|
eI § a1 P A 9 TR BT
Sentence = Determiner + Adjective + Noun +
Adjective Phrase + Predicate

ferorw

1. @& a8 ff &9 21 2 % Gerund (Verb + ing) 3R
Infinitive (to + Verb) i Subject % &7 ¥ TN &
Tehd 21 H-Hell g9 e & T o v @
TN BT 81 9 ¥eE 39 Object A Modifier 81 €|

: frfeafiad Table 1 & & 36—
&I Determiner a7 | able
] Table 6
o A, The, The 94T These—Determiner 4 S. Subject Predicate
®  blind, beautiful, old T pretty—Adjective &1 No.
®  man, girl, lady TIT babies—Head Word d Head Word 1(\)’[;))j(llci:er
i Table 5 . 1. Walking in the | is useful.
Subject IPredicate morning
S. | Dete | Qualifier | Head | Adjectival 2. Swimming in the river is a good
N | rmin | (Adjective | Word | Phrase exercise.
o |er ) Noun 3. To obey our teachers | is our duty.
1. | The old lady in the is wise. 4, To get good marks is my aim.
room 3‘4%?5 Table 6 ¥ Walking (Walk + ing) 3R
2. | His elder brother | in isa Swimming (swim + ing) Gerund 2 S To obey 3 To
Kolkata f rofesso || oot &1 Infinitive & |
' Table 7
3 A black bird sitting in | flew S. No. Subject Predicate
the tree | away. Gerund (Verb + ing)
4. | Those | pretty flower | inthe withered 1. Singing “pleases me.
s vase . 2. Waiting tires me.
5 My elder brother | in ' is an 3. Working keeps us healthy.
Mumbai | actor. 4. Smoking is harmful
5. Saving pays.
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Table 8

Table 2 T-

1%0 Subject Predicate o reads, cooks, writes TIT brought—saT (Verb) gl
) Infinitive (To + Verb) o the newspaper, food, a letter 9T a radio—hH
1. To work hard should be our aim. (Object) gl
2. To work is to worship. Table 3
3. To save for the future is always useful. Subject Predicate
4. To free India was our motto. Verb Indirect Direct
5. To pay the taxes is our duty. Object Object
6. To serve the poor is to serve God. 1.The told me a story.
Em—"Tt' 3ﬁ1 "There' ST 31T HI Subject & T8 8l || grandmother
21 U@ 9 It & ST Impersonal a1 Neutral 3% || 2.The gave him a pen.
There %1 & Introductory Adverb I & &1 21 Table || Principal
9% IR F A T gfeu— 3. They gave her a book.
’ Table 9 4. He wrote her a letter.
: : 5. She gave me a flower.
S. Subject Predicat
No. ubiee redicate 39gh Table 3 ¥ Predicate part # fsham & @e
1. It is very pleasant today. objects 2T T &, @ object ‘person’ 3R THA 'thing' &
2. It is hot today. ?M'H person @ Indirect Object 3R thing @ Direct
3 It is Sunday. Object &1 ST &1 FAe€—Direct object H Feffa awg &
4. LI will soon be day. N T & T, T wod o & w31 -
> It is 200 miles from Sohan gave me a puppy. (direct object)
Allahabad to Kanpur. = b e B e
6. There are twenty students in 3T Passive Voice # 39 M@ -
my class. A puppy was given to me by Sohan AT
7. There was a cat on the table. I was given a puppy by Sohan.
8. There is a girl under the tree. fftes Frafafan arri 1 o e afg-
9. There is a car coming. ’
10. There lived a2 woman in a My mother gave a frock to Mala.
village. Shweta sent a magazine for me. .
It % 3o 3 SaeUl 9 arau- W ff ¥ 9 Active Voice # 21 Frock 3

1. Ttis very difficult to teach English.

2. Itis true that he always speaks truth.

3. Itis good being a student.

~_ PREDICATE

Subject parts ¥ & TS tables § U o1d df &I Bl 2
f% Predicate § 3hell Verb ¥t a1 @ 3R Verb % 91y
2 vz ff € &1 39 UHK Verb F Y YA B ATl
3 Y& H Object A Complement Fad &1 Fr=fafaa

tables &I YA Ifgu-

Table 1
Subject Predicate
1. Kishan plays.
2. Ram sings.
3. She runs.
4. They laugh.
5. We read.

I8l 39 Table 1 # Predicate § sad Verb (fsham)

s far T 2 Plays, sings, runs, laugh 9T read fshar
(verbs) g1 59 fRufy & 5= & T verb intransitive verb
F w7 H 1 E 2
Table 2
Subject Predicate
Verb Object
1. My father reads the newspaper.
2. Your sister cooks food.
3. She writes a letter.
4.1 brought a radio.

3UYh dlicishl Table 2 H Predicate # Teh a1 Th
RF Ie3 &1 37 WA § T BRAT (Verb) @ 3N 60 ¥R
w4 (Object) 21 79 Rufy 4 YJHd verb intransitive verb
F ®9 H FAN T 7

magazine Y3 gave and sent fopamati & Object g1 Mala
AR me ¥ wWA Preposition T T @1 g FEA
Objective Case ¥ Indirectly fa1 a1 21 To 3R for
Preposition T &l ST 39 YN Bl 21

Table 4
Subject Predicate
Verb Object (Gerund)
1. He likes eating fish.
2.1 do not like gossiping.
3. You did not like playing chess.
4. Mohan dislikes gambling.

39t Table 4 § Predicate R i i O
SWH Verb + Gerund. g& Gerund &1 ST Object Ft T@
far T 2, Verb 3R Object (Verb + ing) et
Predicate IFTAT T &1

Eating fish, gossiping, playing chess, gambling—
Gerund % &9 ¥ Tg<h &, ST Object §|

Table 5
Subject Predicate
Verb Object (Infinitive)
1. We want to work.
2. Raja liked to walk.
3. You like to play chess.
4. They decided to leave.

IT® Table 5 # Predicate part § Verb @ Object,
Infinitive (to + Verb) 21 Verb 3 Infinitive ¥ i
Predicate SHTET T &
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Table 6 Subject Predicate
Subject Predicate Verb Object/Complement
Verb Object Complement 1. Shravan was an obedient son.
Noun/Noun 2. Ram was a king.
phrase 394h Table 8 # Verb 3N Complement 8| W&cl
tléacher The | made me ?ﬁ?oﬁf)mtor' e § Adjective 3R T # Noun ®1 Predicate portion
2. The | choose | him their leader. RN §H ¥ Complements i Subjective
people (Noun) Complement Ed 2
3. We named | the boy | Moti. (Noun) [(le—7¢ 3avq &M WAl =T & Verb (is, are,
4. They elected | him the leader of am, was, were) F a. G & qu T & foq
the party. Complement &1 JI1T &l @ 3R Transitive Verbs 379+
i (Nour_l phrase) 7T Object a;.ﬁ- %|]
5. We choose | him f:;)r?lr(ll\?(fége Complements TH R % B Hhd o
phraée) . Noun Complement. ¥ -Heisa boy.

39gth Table 6 H Predicate # Verb, Object @l
Complement 81 Verb, Object 3 Complement it
Predicate portion &1 ®© £ Complement ¥ Noun T
Noun phrase 21 39 YN & Complement Bl Objective
Complement Ed 2

Table 7
Subject Predicate
Verb Object Complement

Adjective/
Adjective
phrase Past
participle

1. The judge | found you innocent.
(Adjective)

2. The news | made him happy.
(Adjective)

3. You found him guilty.
(Adjective)

4. He felt himself | tired. (Past
participle)

5. She wanted | the work | completed.
(Past participle)

6. We heard the song | sung. (Past
participle)

7. They have much for their old

saved money age. (Adjective

phrase)

39gh Table 7 H Predicate H Verb, Object 3R
Complementél Verb, Object 3R Complement T foest
Predicate portion T 21 Complement # Adjective,
Adjectival phrase a1 Past Participle g Wehal 21 TH THR
% Object T Objective Complement e g |
Table 8

. Adjective Complement. SH- You are happy.
e  Adverb Complement. ST- She is there. }
AE—Underlined words, I (Complements) gl

Table 9
Subject Predicate
Verb Complement (Noun)
1. She is a nurse. dferer &
2. Ram was a doctor. Wh gy
3. They | were teachers. Complements
4. we are students. (Noun) €1
5.1 am a boy.
6. She is a girl.
Table 10
Subject Predicate
Verb Complement (Adjective)
1. She is intelligent. drfete |
2. You are smart. Th gy
3.1 am dull. Complements
4. He is brave. Adjective)
5. Mohan | is happy. %‘|
6. Rakesh | is sad.
Table 11
Subject Predicate
Verb | Complement (Adverbial)
1. The girls | are in the library. dfersht
2. You are there. WIh gy
3.1 am here. Complements
4. The | were | in the class. (Adverbials)
students gl
5. The cat was on the table.
6. The rat was under the
chair.

KIND OF SENTENCES

Kinds of Sentences (et & W)
There are five kinds of sentences. (A1 U TR & B
8-
1. 3 99 ST B9 FA & A GI A § HEROT a5
35% ST % (A sentence that makes a statement is
called an Assertive sentence.) |

Examples:

(a) Ramreads abook (b) She goes to school.

2. 3 I S Y B € 3% TR 919 Fed © (A

sentence that asks a question is called an
Interrogative sentence.) |

Examples:
(a) Where do you live? %p) Will you sing a song? ]
3. 9 9 S RY Ad € 3% ARVGHS a9 Hed 2

(A sentence that expresses command is called an
Imperative sentence.) |

Examples:

(a) Shut the door. (b) Make a drink for me.
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